Name: KQV\

Section: e

EE331 Homework PS4 — fall 2012

Problems from Alexander & Sadiku:

CHS5
® 5.8—Warmup! 4ns: a)-2V,b) -1V
5.13 (Remember your ideal Op Amp assumptions, equations 5.5 and 5.7) — A voltage
divider works quite nicely to get this problem rolling.
5.21
5.27
5.37
5.47

Additional Problems (Instructor Option):
* Read page 196-197 in your text and solve Practice Problem 5.12 (on page 197)
e Any as assigned by instructor
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Chapter S, Problem 13

Find v, and i, in the circuit of Fig. 5.52.
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Figure 5.52 for Prob. 5.13
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Chapter 5, Problem 21.

Calculate v, in the op amp circuit of Fig. 5.60.
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Figure 5.60 For Prob. 5.21.
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Chapter 5, Problem 27.

Find v, in the op amp circuit in Fig. 5.65. \/

1602

Figure 5.65 For Prob. 5.27.
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Chapter 5, Problem 47.

The circuit in Fig. 5.79 is for a difference amplifier. Fir}d Vo given that vi =1V and v, =
2V,
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Figure 5.79  For Prob. 5.47.
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Ry Practice Probiem 58T
] Determuu. IVl for [V VaVs] = [010).

10 k€2 10 kG
) mdh}llr[le1vd - [“0] Up Qreeermeme W'v’\v ——-:\/W
VI IV,) = 1,25 V is desired, what should be VAAAH o m ?:h e
) To get 1V, = 1,75 V, what should be [V,V,V4]? o DK |8 H
=
05V, 15V, [101], [111]. Lk ’

Figure 5.37
Three-bit DAC; for Practice Prob. 5.12.
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